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Esercizi su Massimo Comune Divisore (M.C.D.) e minimo comune
multiplo (m.c.m.)
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28;39; 72
44; 68; 82
56; 69; 99
72; 84; 96
85;95; 100

156; 188; 224
225; 270; 295
306; 366; 396
410; 455; 525
550; 600; 605

90; 99; 108; 120

115; 130; 140; 155
120; 130; 160; 180
145; 165; 190; 205
222; 237; 240; 255

260; 275; 280; 290
303; 321; 354; 390
400; 415; 430; 480
580; 610; 630; 700
624;770; 872; 930

45;120; 540; 1020
80; 154; 658; 1450
95; 255; 780; 1580
102; 354;909; 1785
156; 498; 860; 1964

www.matematicaoggi.it

[M.C.D.=1; m.c.m. = 6552]
[M.C.D. = 2; m.cm. = 30668]
[M.CD.=1; m.cm.=127512]
[M.C.D. =12; m.c.m. = 2016]
[M.C.D. = 5; m.c.m. = 32300]

[M.C.D. = 4; m.cm. = 410592]
[M.C.D. = 5; m.cm. = 79650]
[M.C.D. = 6; m.cm. = 410652]
[M.C.D. =5; m.c.m. = 559650]
[M.C.D. = 5; m.cm. = 72600]

[M.C.D. = 3; m.cm. = 11880]
[M.C.D. = 5; m.cm. = 1297660]
[M.C.D. = 10; m.c.m. = 18720]
[M.C.D. = 5; m.cm. = 7455030]
[M.C.D. = 3; m.c.m. = 11925840]

[M.C.D. = 5; m.cm. = 5805800]
[M.C.D. = 3; m.c.m. = 248669070]
[M.C.D. =5; m.cm. = 8565600]
[M.C.D. = 10; m.c.m. = 11144700]
[M.C.D. =2; m.c.m. =811770960]

[M.C.D. = 15; m.c.m. = 18360]
[M.CD. = 2; m.cm. = 41980400]
[M.CD. = 5; m.cm. = 19903260]
[M.C.D. = 3; m.cm. = 63820890]
[M.CD. = 2; m.cm. = 1366855620]



